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F.L.B. Périat 

 

𝑥 ∈ [0; 𝐼] ⊂  ℝ+ 

𝐺 ∋ 𝑓(𝑥) 

𝑓(0) = 0 

𝑓 ∈ 𝐶∞([0; 𝐼]) 

𝑑𝑓

𝑑𝑥
(0) = 0 

{∃! 𝛼 ∈ ℝ+ | −𝛼 ≤  
𝑑𝑓
𝑑𝑥

(𝑥)  ≤  𝛼} 

𝐹 ⊂ 𝐺 

𝐴 ∈ [−𝛼𝐼; 𝛼𝐼] 

{𝑓 ∈ 𝐹 | 𝑓(𝐼) = 𝐴} 

𝑃(𝐴) =
|𝐹|

|𝐺|
= ? 

 

Conjectures : 

 

𝑃(𝐴) = 𝑃(−𝐴) 

𝑃(±𝛼𝐼) = 0 

𝑑𝑃

𝑑𝐴
(±𝛼𝐼) = 0 

𝑑𝑃

𝑑𝐴
(0) = 0 

∫ 𝑃(𝐴) 𝑑𝐴

𝛼𝐼

−𝛼𝐼

= 1 

 

 

 

 

 

 



If resolved, expand to dimension 3 with : 

 

𝐴 ∈ [−𝛼𝐼; 𝛼𝐼]3 

 

Conjectures : 

 

‖𝑂𝐴⃗⃗⃗⃗  ⃗‖ = ‖𝑂𝐵⃗⃗ ⃗⃗  ⃗‖ <=> 𝑃(𝐴) = 𝑃(𝐵) 

‖𝑂𝐶⃗⃗⃗⃗  ⃗‖ = 𝛼𝐼 <=> 𝑃(𝐶) = 0 => 
𝑑𝑃

𝑑𝐴
(𝐶) = 0 

‖𝑂𝐷⃗⃗⃗⃗⃗⃗ ‖ = 0 <=>
𝑑𝑃

𝑑𝐴
(𝐷) = 0 

∭𝑃((𝑥; 𝑦; 𝑧)) 𝑑𝑥 𝑑𝑦 𝑑𝑧

𝛼𝐼

−𝛼𝐼

= 1 

 


